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Instructions :
The question paper has 36 questions in all. All questions are compulsory.
Marks are indicated against each question.

Questions from serial number 1 - 16 are multiple choice Questions (MCQs) of 1 mark each.
Every MCQ is provided with four alternatives. Write the correct alternative in your answer
book.

Questions from serial number 17 to 29 are 3 marks questions. Answer of these questions

should not exceed 80 words each.

Questions from serial number 30 to 34 are 4 marks questions. Answer of these questions

should not exceed 100 words each.

Question number 35 is a map question of 2 marks from History and Question number 36 is a

map question of 3 marks from Geography. Attach both the maps in your answer book.
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Which of the following was the result of the Act of Union 1707 ?

(a) United Kingdom of Irish (b)  United Kingdom of Soctland

(c)  United Kingdom of America (d) United Kingdom of Great Britain
OR

Why did the US enter the war in Vietnam between the North and South Vietham ?

(a) To establish US rule in Vietnam

(b)  To unite the North and South Vietnam

() To stop communists gaining power in Vietnam

(d) None of the above

Which of the following powers was not interested in Balkan peninsula ?

(a) England (b) Germany () Russia (d) Japan
OR

What is Napalm ?

(a) A chemical weapon which US used to attack in the war.

(b) Hollywood film which was responsible for motivating young men to die in the
war.

(c) A film by Joh Ford Coppala’s
(d) A trail by Ho Chi Minh

Which was the main cause for boycotting foreign goods during Non-Cooperation
Movement ?

(a) A symbol of western economic and cultural dominations.
(b) A symbol of foreign rule.

() A symbol of western political domination.

(d) A symbol of oppressive rule.

Which of the following was the cause for business classes to participate in Civil
Disobedience Movement ?

(a) To buy foreign goods without any restrictions.
(b) To sell Indian goods without any restrictions.
(c) Protection against import of foreign goods.

(d) To export their goods.

Which one of the following features is not true about copper ?

(a) India is deficient in the reserve and production of copper.
(b) It is meliable, ductile and a good conductor.

(c) Itisa ferrous ore

(d) It is mainly used in electrical cables and electronic goods.

Which one of the following is an essential feature of Mica ?
(a) It is a metallic mineral made up of a series of plates
(b) It can be clear, black, green, red, yellow or brown.

(c) Itis not used in electric and electronic industry.

(d) It cannot be easily split into thin sheets.
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10.

11.

12.

13.

14.

What is the correct meaning of agglomeration economies ?
(a) Many industries set up in rural centres
(b) Industries are basically of agro-based.

() Many industries tend to come together to make use of the advantages offered
by the urban centres

(d) Industries set up to produce raw material for secondary sector.

Which is the extreme south-western port located at the entrance of a lagoon with a
natural harbour ?

(a) Tuticorin (b) Chennai (¢) Kochi (d) New Mangalore

Which of the following is a pressure group ?
(a) Narmada Bachao Movement (b)  Anti-liquor Movement

(c)  Women's Movement (d) Workers Trade Union

In a democracy which of the following is not a direct way of influencing the decisions
by the people ?

(a) Formation of interest groups (b) Formation of Government

(c) Formation of political parties (d) Contesting Elections

Which one of the following is not a component of a political party ?
(a) The leaders (b)  The followers

(c) The active members (d) Women

Which one of the following is a Challenge of expansion ?
(a) Keeping away from controlling government

(b) Greater power to local government

(¢) To reduce the control of the rich
(

d) Strengthening of democratic institutions.

Which of the following is not an advantage of self-help group ?
(a) Grant of timely loans

(b) Reasonable interests

() A platform to discuss various issues

(

d) Does not help women to become self-reliant.

What do you mean by collateral ?

(a) It is the total sum of money with a person

(b) It is the things kept in the locker

(c) It is the guarantee given by the lender to the borrower.
(

d) It is the security to a lender until the loan is repaid.
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23.

24.

25.

Which one among the following is a far reaching change in the policy made in India 1
in 1991 ?

(a) Removing barriers or restrictions set by the government which is known as
liberalization.

(b)  Put barriers to foreign trade and foreign investments.

(c) Restrictions set by the government to protect the producers within the country
from foreign competition.

(d) By Giving protection to domestic producers through a variety of means

The consumer movement in India has led to the formation of various organizations 1
which are locally known as :

(@) Consumer Protection Council

(b) The Consumer International

(c) The Consumer Protection Act (COPRA)
(d) The World Trade Organization

Why were 1830s called the years of great economic hardship in Europe? Give any
three reasons. 3+1=3

OR

Why did French policy makers want to educate the people of Vietnam? What were the
differences of opinion between the two groups regarding the introduction of French
education system in Vietnam?

How was the Civil Disobedience Movement different from the Non-Cooperation
Movement ? State any three points of difference. 3x1=3

What are renewable resources ? Why has it become necessary to use renewable energy
resources? 1+2=3

Explain any three factors that influence the location of an industry. 3x1=3

What is the contribution of industry to national economy of India ? Compare it with
the East-Asian countries. What is the desired growth and present position of industry

in GDP ? 1+1+1=3
Distinguish between Public Interest Groups and Sectional Interest Groups. 1%2+1Y2=3
Why is democracy considered to be an accountable, responsive and legitimate 3

government ? Explain.

What are the differences between democratic and non-democratic governments in the
decision making progress ? 1Y2+1%2=3

Why do most of the established democracies face the challenge of expansion ? Give
any three reasons. 3x1=3
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27.

28.

29.

30

31.

32.

33.

34.

35.

Note :

36.

Explain any three ways in which MNCs set up or control production in other countries.3x1=3

How does foreign trade lead to integration of markets across the countries ? Give any
three examples. 3x1=3

Explain any three ways by which people may be exploited in the market. 3x1=3
What are the institutions set up under COPRA for the redressal of grievances ? Explain. 3x1=3

How did culture play an important role in creating the idea of the nation in Europe ?

Explain it by giving four examples. 4x1=4
OR

Explain the steps taken by the French in the field of education in Vietham ? What

was their motive behind this ? 2+2=4

Describe the main events leading to salt march and Civil Disobedience Movement in
1930. 1%+1Y2+1=4

Why is international trade considered the economic barometers for a country ?
1Y2+1Y2+1=4

Mention different types of party systems. Write one merit of each ? Which party

systems do we have in India. 2+2=4

Explain any two features each of formal sector loans and informal sector loans.

Two features A and B are marked in the given outline political map of India. Identify
these features with the help of the following information and write their correct names
on the lines marked in the map : 2x1=2

(A) The place responsible for calling off the Non-Cooperation Movement.

(B) The place where the session of the Indian National Congress was held in December
1920.

OR
Locate and label the following items with appropriate symbols on the same map :
(i) Dandi (i) Champaran
The following questions are the BLIND CANDIDATES only, in lieu of
Q.No. 35. 3x1=3

(35.1) Name the place responsible for calling off the None Cooperation Movement.

2x1=2

(35.2) Name the place where the session of the Indian National Congress was
held in December 1920.

Three features A, B and C are marked in the given outline political map of India.
Identify these features with the help of the following information and write their
correct names on the lines marked in the map.

(A) An International Airport. 3x1=3
(B) A software Technology park
(C) Iron and steel plant.

OR
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Locate and label the following items on the same map with appropriate symbols . ~ 3x1=3
(i) Haldia

(i) Kalpakkam

(iii) Mohali

Note :- The following question is for the blind candidates only, in lieu of Q.No. 36.
Answer the following questions :
36.1 Name the software technology park in Orissa.
36.2 Name a nuclear power plant of Tamil Nadu.

36.3 Name the iron ore emporting port of Andhra Pradesh.
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frafafeaa # § &9 e 3% aftEa 1707 &1 afom o ¢

(a) e fohied 3T TR (b) FAECS fHTen 3% Whedve |

(c) FEeE fhiTen 3% e | (d) FEee fohren ok foed |
3rar

3T SR AR gfaor foaramm o st foaaam & g5 o =i wnfiet gem o ?

(a) foaaam o stadent emed Tefud & o faq|

(b) IR 3R Tferor faaam =i S & forw)

(c) Toadm ¥ i <l T 9 i 9 Yk o faw)

(d) SREdH F HE T |

frfafea sifeal ° 9 form &t o=t et gIga o =2 ot ?

(a) TS (b) S () ¥4 (d)
arerar

T T 2

(a) Teh UM efemm foweh smidien 7 g5 # stmehau & foaw 9= fopan |

(b) T wlige frew o gasi % g5 § W ¥ fou 3Ra e

(c) S WIS Huren i fhew |

(d) 2= R oA oo A

ST SA<IeH % SN faqel aegeli o fgshR T 1 Y& FHRUN T o1 ?
(a) Ufk= srefeaEen iR WiEk{as T& H Tdiw |

(b) ol AE 1wl |

(c) Uf¥=Hl TSHIfdH TY sl et |

(d) THTHRR ATHA T el |

[iaTa Tae ST<Ie | AR o & i 2 o1 ffafad § § e |1 SR o ?
a) foceh awgsti &1 famn & @l

b) YR aEgsil I o1 T s |

o) Toeh axgeli & s & fows e

(
(
(
(d) 3T aEgsll @ fard &

dfel o ey § frefaiad o 9 S 91 70 9 6§ 2

a)  YIRA e % eared R ey § s T

b) g S gEHE, T SR A9 G |

) UE AR T B

d) 9 JAN gEa: ol it R $IR soiaeite |9 oA | 2 B

)
)

(
(
(
(
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6. Trefafed & & &F @1 31y &1 T Stfard o § 2

(a) IT T Hifcaeh @IS & S 9301 5hF § o1 B |
(b) % URGEM, hiel, B, del SR X {1 M & Fhal § |
(c) T fostelt iR Sorareien ST | WA =& 2
(d) TG = § foared S | S gkl T

7. ‘OEd 9’ Hel o1 ® T ?
(a) T Rl H g FE T g
(b) TN Hora: H eRa €
() oS JEM IR Fsl 5N U T Al 1 ST L o forg ke o1 B |
(d) Tt &=k o foIT e ATe Scifed i o forg, wenfud 3= |
8. T A & YoM W, S Uk Wi drarga oft 7, feord <faror ufvem o1 g aod S w1 &2

(@) qdRIRA (b) =%
(c) =hr=dt (d) = HelR

9. frfafed § 9 H <o A 2
(a) THT TS ST | (b) I el eTeer |
(c) HfecT A< | (d) IR SR G |

10. <rha= § | i | qlehT AR o fofr st dren genfad s o & § 2
(a) Toa wwgl o fein) (b) EHR 1 70|
(c) TSHifae gal a1 | (d) TIE TS

11. fr=fafed § @ oF fdt asrifas <o o tagg T8 €2
(a) I (b) LA (c) dfma @@ (d) wfad)

12. frfafed § § ®F dea= & TR &t g § 2
(a) TR =0 Sl Q@ (b) TFT TR hl ek oo |
(c) STHI o FFor=I01 &l ¥ LA (d) SArRaT=eh HEATS I TSI T |

13. frafafed § @ $F @-Hewd 99g & @y T €2
(a) SRUI, 99T T YSH HLA | (b) Tk HITA =S K|
(c) Tofvm 78l W == & 1 w4 | (d) Wil sl el S H el T8 H |
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14. FHH ROMHR 1 7 Y § 2 1
(a) o forsht =afoq & 99 $e o B S

(b) IE AR H TE TE TEL L |

(c) I& RV GRI HoieR ol & T TR

(d) TE FHS 3T HH qh RO % I et T

15. fr=fafea § @ w0 @ fowes vra § 1991 # ifa § foran mn srgr uftad= €2 1
(a) TR GRI U<l ST Taiei i g2 fST8 STRIR0T el ST |
(b) Tacw =R iR faceft fee W TRy &M |
() W % Scareehi o1 Tl wfaenet @ s & fou TR g1 Yt o |
(d) 3T Il 9 =T ITGHI Fl GI&T YSH AT |

16. WRA § ST 3T<ie | fafis dwew fafda gu € o Tmia TR o el 9 © 1
(a) SUHIKI HLEI0 qREg | (b) T FHIH FEEIEA |
(c) ST gan sAfufTad | (d) fored =R HeA |

17. 1830 % S sl AT H 7Ifeleh shfcrsal & o Rl el 1?7 hig 19 H0 SHr | 3x1=3

maﬁﬁﬁﬁﬁmﬁwm%@ﬁaﬁﬁ?a?ﬁmmﬁ?mmmﬁmmm

JOTTA! 2l AR A o T4 H S T8I o s, Jeieh qavws @ 9 ? 1+2=3
18. Hfo T 3fe Ao vt YepR Sre@ai ef<ior | fuel o1 ? =i i = fafa) 3x1=3
19. TR A HETEE 1§ 2 Sl bt TR A HTE B AR i ST B T S 2 Lages
20. fordt ST ot eraftafa ol guifad & ot =gl dF SRehl sl AT Hifoid | 3x1=3
21. ¥IRT &I U Srefeaen § SN ol =1 AFIeH § 2 Ja-TRMEmRE <9 o 919 S9! g St |

Tohdl BT 3CIR H SN i eTafard g oiX adam feafa s €2 1+1+1=3
22, 9 UM % fed e IR ol favm & fed e &% o9 o= T Shife | 1%2+1%=3
23. TIhd= % i ST, TeR 3R S8 S w8l Sid € ? Sl it | 3
24. fofa fwfor wfshan & cieait-=reR TR IR cirehari=reh TR H 91 =R § 2 1V2+114=3

25,  Afrehier TNfyd cliehd=l bl foRaR <t AT b1 TTHAT Al haAT USdT © 2 hIE oI HROT
wl 3x1=3
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35.

U BT GRT 317 <1 B ScuTeH hid Y& b 210a faf=a e & o=l i adehl =l

U T | 3x1=

foew =aMR e yenr fafimst <9l o s ISR & Tehieh ol shi 3T o ST 2 hig i SeeLul

<t | 3x1=

T Tl I Rl Tt AR SIS S g oSk § A o1 990 fhan ST shar g2 3x1=

axfagfet fererrerdi o framo & fore Susiem gan sifufam & swria wonfud deemd M € § 2

AT IS | 3x1=

79 H g % foar &1 41 o H Heha 3 fRe YR U mewrqul yfien e 2 9R 3w

TR T BT | 4x1=

Jgar
oo o 318 o & § Wid g1 33U, U SheHi ohi SATEAT ShiTeld SHeh UTe Seh! a1 S o1 ?

2+2=

T AT TAT 1930 H WoT T ST bt IR o S el & AR 1 Jui Shiferd |

TR AR i FRET I hi STLATET h SRIHIEX T THSH ST © 2

fafirs R ot Tt Jonferl ol Sooi@ hifse | Yo &) Tk fagmar fafau) ara & == 9@t

Tt yomett § 2 1V2+172+1=

e &1k 0T qe STHIq=Ieh &1k 0N i hIg al-< fovand fafam) 2+2=

feu gu wRa & Yanfes § <1 fa9mand A @R B W fafwd &1 7 €1 = < T STt w6t g

37 foRmared ot vea shifay iR amfas # fafea el = w3 &t 9m fafew) 2x1=

(A) STHEIN A<Ie a9y feT ST o T STemrRt M |
(B) % TIM W&l 1920 H YR LA T 1 AT ot o

AT

feu gu M W & frefafea 1 Swge Hehdl grT S iR 3% T2 W fafay | 1+1=

() i (i) =FRA
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e : FrAfafaa uo sae gieds wienft o fau uo suies 35 & T W E) 2x1=2
35.1 39 TM &1 AW fafau S e <o arad foe SiH & fay Swert 21
35.2 39 T 1 AW fafEu Sl 1920 H YR T B 61 SARE9H gem o)

36. feU gU 9RA % Y@mmfes | i fagmand A, B 3R C R faf=d =t T €1 9 & 7 Il ®
YR W 37 foRroaredil i Uea sifsre 9o aFfes § fafed W@nsli = 3°9¢ 98 M fafaw)

(A) Teh ST TaT q9 | =3

(B) Tk HIRAI TSI UTeh |

(C) TR T 39U o1 &< |

3rerar
feu gu M W & Suge Hahal gR1 Frefafad =i <uiisd o) 3 e =&t T fafan | 3x1=3
(i) efegam (i) HOTIHRRA | (iii) T |

e : FrAfaiea a9 hae gieds T o faT 99T wHieh 36 % TF W T 3x1=3

Frefafead gei & W AT

36.1 e H T fopelt WTRe=R SaTaStt Ureh @l 9 fafEw |

36.2 TS 1 Teh AR Kol HI |

36.3 3T oW % 3 U9 o1 T fafae el 9 e stk o1 faid foman St 2
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Question No. 35

12

087/X/SA2/02/C1



Question No. 36 OR 36

R
L»)f - (A) An international airport ﬁ,
e \‘\_,;r- (B) Software technology park *
"% * \L o (€) Iron and steel industry g
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